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1. [3 pt] Select the correct answer:
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2. [2 pt] Write only your final answer in the frame below. cicele with ’7(" 0l awd
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3. [2 pt] Give a full calculation/argumentation in the frame below.
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4. [4 pt] Write only your final answer in the frame below. v

[ actatle) dy = [ axkd6) d (aucbter) =

The integral equals: ° l+¥? o)
\ - Vs
T -4 asclane)| 2L (ko (3) - arclen(ol) =
32y o

( “ “
= (%) -oY) - 3=

Continue on the next page.




5. [4 pt] Give a full calculation/argumentation in the frame below.
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6. [2 pt] Give a full calculation/argumentation in the frame below.
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7. [4 pt] Give a full calculation/argumentation in the frame below.
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8. [4 pt] Write only your final answer in the frame below.

The solution is:
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9. [3 pt] Select the correct answer:
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10. [2 pt] Give a full calculation/argumentation in the frame below.
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11. [6 pt] Give a full calculation/argumentation in the frame below.
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